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ø 
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ù

QUESTIONS
úò

PG.NO 

óø

1. 
India – location and physical features

ýòööüóòõøöþ

Set 1 50 01 - 10 

Set 2 50 11 – 20 

2. 
India – Rivers and water resources

ýòöþûþ

Set 1 50 21 – 30 

Set 2 50 31 – 40 

3. Revision/  50 41 – 52 

4. 

India – Weather, Climate, Monsoon, rainfall, 

Forest and wild life

ýòöûöö÷óòûü÷

ü÷ùóööøüùûúüöúþ

Set 1 50 53 – 63 

Set 2 50 64 – 73 

5. 

India – Soil types, Agriculture and crop 

patterns, Natural and Mineral Resources

ýòöüõûþüûöõüõ

óüøõþüøüùòõûþ

Set 1 50 74 – 84 

Set 2 50 85 – 96 

6. Revision/  50 97 – 106 

7. 

India – Transport, Communication, Social 

Geography – Population density and 

Distribution, race, linguistic groups and 

tribes

ýòöüóöòûûýûÿöñ

ôùñóüòÿüòþöúüö

ó÷ýþ

Set 1 50 107 – 117 

Set 2 50 118 – 128 

8. 

India – Disaster and Disaster management, 

Environment, Climate change and green 

energy

ýòöüóöüüöõü÷õó÷ÿ

óòû÷üöõõüõó÷üõõÿ

Set 1 50 129 – 138 

Set 2 50 139 – 148 

9. Revision/  50 149 – 160 

10. 
Tamil Nadu Geography   

ôõöñóüòÿ

Set 1 50 161 – 171 

Set 2 50 172 – 181 

11. Full Revisionðñ 100 182 – 200 

12. Full Revisionðò 100 201 – 222 

 1050 223 - 227 
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ýòüòþ
 

 

 

 

 

1. Where the Southern most point of the country did is Pygmalion Point or Indira Point is situated? 

A) Andaman and Nicobar Islands (6°45'N)  

B) Kanniyakumari (6°45'N)  
C) Andaman and Nicobar Islands (8°4'N)   

D) Kanniyakumari (8°4'N) 
ýýòöóûøþûüÿöýóúýòöúøûñøòøüòûøûþö÷÷òÿùóĂöýýûöø÷úøúú
ö÷üýýþāýÿ

A)öýþüöû÷òüÿöóöüù ýöºôõ'ûööĂôô 

B)ÿûýòöúüö  öºôõ'ûööĂôô 

C)öýþüöû÷òüÿöóöüù ýøºô'ûööĂôô 

D)ÿûýòöúüö  øºô'ûööĂôô

2. Which of the following country was not matched with country which called as India is a  
Sub - continent? 

A) Myanmar and Bangladesh    B) Bhutan and Nepal  
C) Afghanistan and China    D) Pakistan and Sri Lanka  
ýýòöþòý÷Āòÿõöôøúö÷÷òÿùóôõöÿùÿøóöòýþöþýøýÿ
A)ôòöûüüüõþôûúÿöāüþôô  B)ÿööûüõþôüõóöāô  

C)ùÿöýþöûüõþôöúö  D)óöþþöûüõþôùú÷ÿ
3. Consider the following statements: 

1. India is the sixth largest country in the world and first largest country in Asia in terms of area. 
2.  The land area of the India was 32.87 million Square Kilometre  
3.  It accounts 2.4% of the world total area  
A) 1 and 2 are true     B) 1 and 3 are true   
C) 2 and 3 are false    D) 1 and 2 are false 

ÿõòÿöòôýõþÿ÷āûööÿþ
ñþ ýýòöóûùóāóÿõòÿõöýýÿøþöýýûôüóùÿāóÿõöûýöýýûôóþāýþ
òþ ýýòöóû÷ùùóûùñóòþø÷ôÿòûôþþþúôþ
óþ ýñóüûøüöýþóûùøÿòþôõúôþ
A)ñüõþôòôö     B)ñüõþôóôö 
C)òüõþôóþûþ    D)ñüõþôòþûþ
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4. Choose the incorrect Pair in the following  
A) The total length of the coast line of India including the islands  - 7516.6Km  
B) Land boundary of India        - 15,700 Km  
C) Length from Ladakh to Kanniyakumari     - 3214 Km  
D) Length from Rann of Kutch to Khibitu     - 2933 Km  
ÿõòÿöõóúûõþþþûõöú÷Ā÷òýüþüÿþ
A)ùòýĂöúÿ÷āÿüôüýýýýòÿöõÿ÷ûüûøüöýþāô  ÷üõñöþöþþ  
B)ýýòöóû÷ùøÿ÷ù       ñõü÷ððþþ  

C)ùööòøþÿÿûýòöúüöû÷ûóþāāô    óüòñôþþ   

D)ûöûùÿĂÿøþÿþøýû÷ûóþāāô    òüùóóþþ
5. Based on Source of which longitude of India, Indian Standard Time (IST) can be calculated? 

A)øòºóð'East     B)øòºóð'West   

C)øôºóð'East     D)øôºóð'West 
ýýòöóûøýþùüòÿòüÿöĂý÷úþöûüöÿòøÿöõýýòöóûýĂöüõûô(IST) ÿĀòþöùóþõýÿ 

A)øòºóð'þ÷òú    B)øòºóð'üüõú  

C)øôºóð'þ÷òú    D)øôºóð'üüõú
6. Match the following.        a b c d 

a) 6 ° Channel - 1. India and Sri Lanka     A) ó ò ñ ô 

b) 8 ° Channel - 2. Nicobar Island and Sumatra Island      B) ñ ò ó ô 

c) Palk Strait  - 3. Andaman Island and Nicobar Island   C) ò ô ñ ó 

d) 10 ° Channel - 4. Lakshadweep and Maldives    D) ô ò ñ ó
øóöòýýÿþ         a b c d 

a. öºÿöÿûöö ñþýýòöùú÷ÿ    A) ó ò ñ ô

b. øºÿöÿûöö òþ÷òüÿöóöüù÷üýûöù   B) ñ ò ó ô

c. óöòüÿôýý óþöýþüöûù÷òüÿöóöüù   C) ò ô ñ ó

d. ñðºÿöÿûöö ôþùĂôýùüöùýù    D) ô ò ñ ó

7. Which latitude passes through the middle of the country dividing it into two halves as northern 
temperate and southern tropical lands? 

A) 23°309 N Latitude    B) 23°309 S Latitude   

C) 66°309 N Latitude     D) 66°309 S Latitude 

ýýòöóû÷üòüöÿö÷üýýøþûóúý÷òøûùóüõöùöÿôüûöóúý÷òôþøûùó
üõöùüöÿôøöòúôöĂôüû÷ÿøýÿ

A)òóºóð'ûööĂôô    B)òóºóð'øþûöĂôô  

C)ööºóð'ûööĂôô    D)ööºóð'øþûöĂôô

8. The Sun is found overhead the Greenwich Meridian at 
A) Midnight 12 o clock     B) Noon 12 o clock 

C) Afternoon 1 o clock    D) Morning 1 o clock 

ÿúûóÿøþû÷üùüòÿòüÿöĂýõúüõüóÿõüÿóöòûòòúôüóöýöûóöýýÿüõûôòöýÿ
A)õþùûñòüø    B)õõóÿÿñòüø
C)øõóÿÿñüø    D)øõóÿÿñüø 
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ýòþûþ
 

 

 

 

 

1. 1. Godavari is the longest river among the Peninsular rivers in India  

2. River Godavari is called as Vridha Ganga  

3. Godavari covers a drain area of 3.13 Sq. Lakh Kilometers  

Consider the following statements  

A) 1, 2 is true and 3 is false    B) 2, 3 is true and 1 is false  

C) 2 is true and 1, 3 is false    D) 1, 2 and 3 are true  

ñþ ùóòõóýýòöóÿóöõôôÿñüöúþüÿöþöûöþ
òþ üÿöþöûöóýþÿúÿöøúö÷÷òÿùóþõýþ
óþ üÿöþöûöóþñóòôôôþþþúþóûùóñûý÷ý÷þòøÿöõþñýþ
ýõþÿ÷ñûööÿþ
A)ñüòôöûóþûþ    B)òüóôöûñþûþ 
C)òôöûñüóþûþ    D)ñüò(ü)óôö  

2. Which of the following is not a Tributaries of River Tapti? 

A) Panjhra   B) Bori   C) Neesu   D) Tawa  

ÿõòÿõöûõþþøýþóýõôûý÷Āþöÿÿ
A)óþôûö   B)üóöö  C)÷   D)öûö

3. 1. River Brahmaputra enters into India through a gorge in Arunachal Pradesh namely Dihang 

2. Tista, Manas, Barak, Subansiri are some of the major tributaries of River Brahmaputra  

3. Brahmaputra river is called as Jamuna in Bangladesh and then joins with the river Ganga is 

called as Meghna 

Consider the above statements  

A) 1, 2 is true and 3 is false    B) 2, 3 is true and 1 is false  

C) 2 is true and 1, 3 is false    D) 1, 2 and 3 are true  

ñþ øûôüñýûöþöĀöÿôùøûüþôýýþñýÿöúøûõü÷òþûûñòöÿ
ýýòöóõúþÿ÷÷þõýþ

òþ ýüööüúöüüóûöòü÷óûĀþò÷ûøûôüñýûöþÿùûõøòþòý÷Āþÿþúôþ
óþ øûôüñýûöþûúÿöñüþôýýÿûøúöøúôüÿú÷ÿõõöû÷Āýþüóöý

üüòúöøúôö÷÷òÿùóþõýþ
ýõþÿ÷ñûööÿþ
A)ñüòôöûóþûþ    B)òüóôöûñþûþ 
C)òôöûñüóþûþ    D)ñüò(ü)óôö

SET 1 
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4. Match the following. (Tributaries)     a b c d 

a) Beas and Sutlej   - 1.River ganges  A) ñ ò ó ô 

b) Ghagra and Gandak  - 2. River Krishna   B) ó ñ ô ò 

c) Indravati and Pranita  - 3. River Indus   C) ñ ô ó ò 

d) Koyna and Peddavagu - 4. River Godavari   D) ó ñ ò ô 

øóöýýÿþ(ý÷Āòöþÿþ)      a b c d 

a.øòöü(ü)ôòøû  ýñþÿú÷ÿõý  A) ñ ò ó ô  

b.ÿöòûö(ü)ÿõöò  ýòþþĀöõý  B) ó ñ ô ò
c.ýýûöûý(ü)øûýþö ýóþõýýõý   C) ñ ô ó ò
d.øÿööúö(ü)øóöûöþ ýôþüÿöþöûöõý  D) ó ñ ò ô

5. Which river forms the largest delta situated near Rajahmundry gets divided into two Channels 
called Vasistha and Gautami? 

A) Mahanadi  B) Krishna   C) Godavari   D) Cauvery  
ûöûøýýöòúöþÿÿþôüõþôûõüþöøúûõþ÷ñÿñöÿùøöýýøóöòøöÿöö÷û
óûöòúôþøýÿ
A)üÿöõý  B)þĀö  C)üÿöþöûö  D)ÿöüûö

6. Choose the correct statement about River Cauvery. 
1)  It was called as South Ganges of India and Vridha Ganga  
2)  It was approximately flows a length of 800 Km  
3)  It divided into Coleroon and Cauvery and drains into the Poompuharin Bay of Bengal 
A) 1 and 2   B) 1 and 3   C) 2 and 3  D) All the above  
ÿöóöþóõôòýõþÿùÿôöòöú÷þýüþüÿþ
ñþ ýýòöóûøþûÿú÷ÿøûþôüóýþÿúÿöøûþôö÷÷òÿùóþõýþ
òþ ý÷üöüøððþþúþñýýõúóööþõýþ
óþ øÿöþùöô(ü)ÿöóöøúûõööÿùøöýýÿôÿÿööÿûúÿòÿöÿÿÿòþõýþ
A)ñüõþôò  B)ñüõþôó  C)òüõþôó D)ö÷úýýô

7. Choose the correct Pair in the following. 
A) Largest Tributary of River Ganges    - Gomati  
B) Largest Tributary of River Indus     - Ravi  
C) The river which is called as Tsangpo in Tibet   - Brahmaputra  
D) The river which is called as Sorrow of Bihar   - Damodar 
ÿõòÿöõóúûõþþôöòöú÷Ā÷òýüþüýøþþ
A)ÿú÷ÿòöõôûôÿùøóöòý÷Āòöþ   üÿöüý     

B)õýýõýüûôÿùøóöòý÷Āòöþ   ûöó  
C)ýøóýýÿôöúüóöøúö÷÷òÿùóôþ   øûôüñýýûö  

D)üÿööûýòûôøúö÷÷òÿùóôþ   þöüüöþü
8. Which of the following is called as Drainage basin? 

1. Sea    2.Primary rivers   3.Tributaries   4. Lakes  
A) 1 and 4   B) 2 and 3  C) 1, 2 and 3  D) 2,3 and 4  
ûýÿöÿøÿöùó÷ûøûþö÷÷òÿùóûúòö÷ûÿ
ñþÿöÿ   òþøþû÷üþÿþ óþý÷Āþÿþ ôþĀöÿþ
A)ñüõþôô  B)òüõþôó C)ñüòüõþôó D)òüóüõþôô
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ýòöûöö÷ûüüùö
öøüùûúüúþ

 

 

 



1. Match the following          a b c d

a) Winter Season    - 1. January to February   A) 4 3 2 1  

b) Summer Season    - 2. March to May   B) 1 2 3 4 

c) Southwest Monsoon season - 3. June to September  C) 1 2 4 3  

d) Northeast Monsoon season  - 4. October to December   D) 1 3 4 2 

øóöòýýÿþ          a b c d
a. úùüÿöùô    āþúûöøùûûö   A) Ą ă Ă ā
b. üÿö÷öÿöùô    Ăþüöüÿüü   B) ā Ă ă Ą
c. øþûüüõúóòûÿöõþÿöùô ăþýûøôùöôóü   C) ā Ă Ą ă
d.ûöþ÷òúóòûÿöõþÿöùô  Ąþöòüööóüýôôóü  D) ā ă Ą Ă

2. 1)  Jet streams are the fast-moving winds blowing in a narrow zone in the upper atmosphere.  

2)  According to the Jet stream theory, the onset of southwest monsoon is driven by the shift of the  

sub-tropical westerly jet from the plains of India towards the Tibetan plateau.  

3) The easterly jet streams cause tropical depressions both during southwest monsoon and  

retreating monsoon. 

A) 1,2,3 is true      B) 1,2 is true and 3 is false  

C) 1,3 is true and 2 is false    D) 1,2,3 is false 

āþ ûùüõöùýýûóòüöüòúÿùÿúþþòóúýÿùÿüûÿüöÿõÿòôÿöõþÿþòòøĂÿöõþÿþ
øûþüõöôþ 

Ăþ øĂÿöõüõöĂöüÿöĂóöĂýûóýüý÷Āöòúüü÷ùÿöõüõöĂöôûöøóòôôüøûùÿùÿòýý
ýøóýýòüöÿô÷òüõöòþöôøóòüûþöÿøþûüüõúóòûòÿöõþóòûöþûõýþ

ăþ ÿ÷÷øĂÿöõüõöĂöúÿþøþûüüõúüõþôøûú÷öõôóòûòÿöõþÿöùúÿùÿøûùóüõöù
þöõûÿýþúÿ÷āóòûöòúþûõú

A)āüĂüăôö  B)āüĂôöüăþûþ C)āüăôöüĂþûþ D)āüĂüăþûþ
3. The forest which gave more than 200 cm Annual rainfall was  

A) Tropical deciduous forest    B) Tropical evergreen forest  

C) Tropical Thorn Forest    D) Himalayans forest 

õüü÷÷ùøóöñĂĀĀøôþòúüüÿøÿöüòúôÿöüÿþÿ 

A)öòúüõöù÷ùõýüòÿöüÿþ  B)öòúüõöùó÷÷üüöõöòÿöüÿþ  

C)öòúüõöùûõõöÿöüÿþ  D)üòü÷ùòÿöüÿþ
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4. Statement 1: A few thunder showers called <Mango Showers= which helps in quick ripening of  
mangoes along the coast of Kerala and Karnataka. 

Statement 2:  <Nor wasters= or <Kalbaisakhis= are the local storms with thunder that blow from  
north western part in the Month of April and May  

A) Statement 1 is true and 2 is false   B) Statement 1 is false and 2 is true  

C) Statement 1, 2 is true    D) Statement 1, 2 is false  

ýõþāĊ üöþôöûÿøûõýõöûýýòü÷÷òöúüÿûāöüõþôÿüõööÿÿöõÿ÷ûóúýÿùÿ
ó÷āõôòòüöúÿööÿþó÷ûóÿøýüûþõúóþþõýþ 

ýõþĂĊ Āùûÿüõþôüüüöþúÿùÿûöüüõúý÷ôüÿòýý÷ôþùòÿöõþõöüøûüöü
 öÿùýÿöÿ÷óôöþøûþö÷÷òÿùóüþõýþ 
A)ýõþāôöüĂþûþ    B)ýõþāþûþüĂôö  

C)ýõþāüĂôö     D)ýõþāüĂþûþ
5. How much percent of Overall rainfall received from Southwest Monsoon in India? 

A) 75%    B) 70%  C) 65%   D) 45% 

ýýòöóûþĂüøüöýþü÷÷ùøóöñóÿøýþ÷úôþþôü÷÷ùøóöñûöúýøþûüüõú 
óòûòÿöõþÿöùýýÿþ÷öòþõýÿ 

A)ćą   B)ćĀ  C)Ćą  D)Ąą 
6. Statement 1:  Weather refers to the state of atmosphere of a place at a given point of time. 

Statement 2:  Weather is the accumulation of daily and seasonal weather events of a given  

location over a period of 30-35 years. 

A) Statement 1 is true and 2 is false   

B) Statement 1 is false and 2 is true  

C) Statement 1, 2 is true     

D) Statement 1, 2 is false  

ýõþāĊ ûö÷ùøûóýþòúôùøĂööýýÿóþāûùüõöùýýûþû÷ü÷òòúôùóþöúôþ 
ýõþĂĊûö÷ùøûóýþòúôùøĂöóúýüû÷üöüăĀýăąõüôûöôöûö÷ù÷òò

úôùóþöúôþ 
A)ýõþāôöüĂþûþ    B)ýõþāþûþüĂôö  

C)ýõþāüĂôö     D)ýõþāüĂþûþ
7. Which of the following monsoon is influenced by global phenomenon like El Nino.? 

A) Northeast Monsoon     B) Southwest Monsoon  

C) Summer season     D) Winter Season  

óùÿāöóòÿöù÷÷ù÷ÿõûöúòòøÿ÷üúöøýþóòûòÿöõþòÿöùýýÿôÿùøóöòþöòÿý÷þ
Āõóüýýþõýÿ 

A)ûöþ÷òúóòûòÿöõþ   B)øþûüüõúóòûòÿöõþ  
C)üÿö÷öÿöùô    D)úùüÿöùô

8. The average of maximum and minimum temperatures within 24 hours is called 

A) Measuring temperature                        B) Temperature 

C) Mean temperature                                  D) All of these 

ûüöýýÿĂĄüøüõûýýõúþ÷ùôöýÿóĂôüõþôú÷õýþóĂôøûùó÷÷ùòúô÷öüòõþā
ôûöôöøûúÿ
A)øûùó÷÷ù÷òöāóüþÿ   B)øûùó÷÷ù
C)øûùó÷÷ùÿ÷    D)÷ûö÷úýýô
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ñ
 

 
1. Choose the correct statements :  

1)  The normal rain is slightly acidic due to the presence of carbonic acid.  

2)  If the pH value of rain is 5.6, then it is called as normal rain.  

3)  If the pH value of rain is less than 5.6, then it is called as acid rain.  

A) 1, 2 only    B) 2, 3 only  C) 1 only  D) All 

ôöòöúòýõ÷õýüþüÿþ
ñ) òÿóöúü÷÷üÿÿöüüóöýòöôùôÿùýýþñþöÿõôþñöôùýþû÷üÿöĀùóþõýþ 
ò) ü÷÷üûPH üýùñõþöøúòýþöÿöýòÿóöúü÷÷øúùóôþ
ó) ü÷÷üûPH üýùñõþöòúôú÷õûöÿòýþöÿö÷þöôùü÷÷øûþôö÷÷òþüõöô
A)ñüòüòô     B)òüóüòô 
C)ñüòô     D)ö÷úýýô

2. The process by which water vapour cools to form water droplets when the air temperature 

decreases is called as _______  

A) Evaporation       B) Water Shrinkage  

C) Infiltration     D) Percolation 

ÿöõôûøûùó÷÷ùú÷õõôüóöýĀûöóúùüýýĀüýùòöÿüöþôøôòÿø÷õýýýýýýýýøúùóôÿ
A)óòöþÿ     B)Āü÷òúúþÿ 
C)Āüûòûÿ     D)óòÿõþÿ

3. Which of the following is the imaginary lines joining places of equal rainfall? 

A) High Isohytes        B) Inversion of Rainfall  

C) Isohytes     D) Equivalent rain line map  

úôùøòöÿöù÷öøûùüÿþüûöñü÷÷øóöõôóúýÿ÷ñ÷Āòúôÿõó÷úòüÿö
ö÷÷òÿùóôóþôÿ
A)öýÿóòôü÷÷òüÿö   B)ü÷÷ùøóöñóûþ÷ùÿõüöõõô  
C)ôüü÷÷òüÿö    D)ôüü÷÷òüÿö÷ùû÷ûùóöô

4. What type of rain occurs when dense air masses are concentrated and move upward due to 

thermal invariance? 

A) Tropical Rain      B) Torrential Rain   

C) Cyclonic Rainfall    D) Stormy rainfall 

ööüýýòöúÿöõþýýûþÿþþòøÿùóýþùóòøûñüüÿüöòþøôûþøûùóôüöõö÷÷ùüúöÿ
úùüÿõò÷öýýøóöñõôü÷÷øýÿ
A)øûùóÿôùúü÷÷    B)÷ùýüþöõõü÷÷  
C)óõöûùü÷÷ùøóöñ   D)ñòÿü÷÷ùøóöñ
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5. The term cyclone is a Greek word meaning? 

A) Storm    B) Tornadoes  C) Coil of a Snake D) Cyclone 

"÷ôòüñöû"øûõþüûòÿÿøôöÿÿûøóöòþòöýÿ
A)ñòÿ   B)÷÷ÿÿöõþ C)÷òõöóöôñ D)óõöûù

6. Which is used to measure the Humidity?  

A) Anemometer   B) Speedometer C) Aneroid meter D) Hygrometer 

ÿöõôûûùóþý÷þöñòÿùóòûóôÿòóøýÿ 

A) öýüüöúòöü B) üüööúòöü C) öýûööúòöü D) ÷òüûöúòöü
7. Where do the strange phenomenon of aurora Australis and Aurora borealis occur?  

A) Stratosphere    B) Thermosphere  C) Exosphere D) Mesosphere 

öüûöûöòöòöÿøüùöüûöûöøóööòöÿøûõóüöþþù÷ÿõÿþøûûòþÿ÷ÿõþûõúÿ
A)úþöòú  B)øûùóöòú C)øûùòòú D)÷öòòú

8. Choose the wrong statement :  

1)  About 75% of India9s total rainfall is received during the Southwest Monsoon.  
2)  Southwest Monsoon season is known as Retreating Monsoon Season.  

3)  North East Monsoon is caused by the force caused by the Earth9s rotation.   

A) 1 only    B) 2 only   C) 3 only  D) 1,2 only 

ôöòõõòýõ÷õýüþüÿþ 
ñþ ýýòöóûþòøüöýþü÷÷ùøóöñóÿ÷õü÷÷ùøóöñûöúý

øþûüüõúóòûòÿöõþÿöùýýÿþ÷öòþõýþ
òþøþûüüõúóòûòÿöõþòÿöùôøûú÷öõôóòûòÿöõþòÿöùôøúö÷÷òÿùóþõýþ
óþÿô÷÷ÿûþöÿĀõóôó÷ôüûÿöûĀüöÿûöþ÷òúùóòûòÿöõþĀõóþõý 

A) ñüòô  B) òüòô  C) óüòô  D) ñüòüòô
9. How high does the temperature rise in North India before the onset of the Southwest Monsoon ? 

A) 35oC     B) 42oC   C) 46oC  D) 55oC 

øþûüüõúùóòûòÿöõþøþööúúôøûûöýýòöóûøûùó÷÷ùøûûñû÷ûóòòþõýÿ
A)óõºC   B)ôòºC  C)ôöºC  D)õõºC  

10. Consider the following statements :  

1) The Earth9s atmosphere is heated more by terrestrial radiation than insolation.  
2) Temperature decreases with increasing height of 6.5 degree Celsius per 1000 meters. 

3) The decrease in temperature is known as thermal Recovery.      

A) 1,2 correct    B) 1,3 correct C) 1 only correct D) 2 only correct 

ýõþÿ÷ñûööÿþ 
ñþ ñóüûûùüõöùôüóöòÿýüô÷ùóöñóÿýüôùöÿþöûöýÿøûùóôö÷öþõýþ
òþøûùó÷÷ùòöúýñðððúòöüóòûýýõúöþõðC øûõöñóÿøûùó÷÷ùú÷õýý

øÿöõüöøôÿþõý
óþûûöþøûùóôú÷õû÷þøûùó÷÷ùúòõøûóüþ 
A) ñüòôö   B) ñüóôö  C) ñüòôôö D) òüòôôö

11. The Geological Survey of India is located in? 

A) Kolkata  B) Nagpur   C) Hyderabad D) Delhi 

ýýò÷ùóòÿÿñö÷þûúýýûþ÷ù÷üüöôøúúö÷üýýþñýÿ
A) øÿöÿÿýþö  B) öòÿü  C) ÷þûöóöý D) øöÿÿ
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1. Where is the headquarters of Inland water ways authorities of India? 

A) Kolkata  B) New Delhi C) Noida    D) Guwahati 

óþõöòüĀüûñùüóöòúûûýý÷Āòýýûþ÷ù÷üòÿôóþñöô
A)ÿöÿÿýþö  B)ñýöÿÿ C)õöööö  D)ÿñÿöýý

2. In which year the Golden Quadrilateral road was started in India?  

A)  2000   B) 1999   C) 1998   D) 1998  

þúÿõöõÿûôö÷ùýýòöôøýþõüþööúÿùóòöýÿ
A)ĂĀĀĀ   B)āĉĉĉ  C)āĉĉĈ  D)āĉĉĈ

3. Which of the following statement is incorrect? 

1. Mumbai    - Pune expressway    

2. Kolkata  - Dumdum Airport expressway 

3. Durgapur   - Kolkata expressway   

4. New Delhi   - Jhansi expressway 

A) 1, 2 only   B) 2, 3 only   C) 3 only   D) 4 only 
øûûûúûõôÿþûõöúýøýÿ
āþøô÷ó   ÿúöû÷ûôö÷ù 
Ăþÿöÿÿýþö  öôöôóüöú÷÷ùòó÷ûôö÷ù
ăþýüÿöùÿü  ÿöÿÿýþöó÷ûôö÷ù
Ąþñýöÿÿ  ûöûõó÷ûôö÷ù
A)āüĂüòüô  B)Ăüăüòüô C)ăüòüô  D)Ąüòüô

4. Which of the following is/are the countries Joined with National Highways of India have been  

Constructed under an agreement with the Economic and Social Commission for Asia-Pacific 

(ESCAP)? 

1) Nepal   2) Bhutan  3) Bangladesh  4) Myanamar 

A) 1, 2 only  B) 2, 3 only  C) 2, 4 only   D) All the above 
øûûûúûõôÿõòüõþôóõøòóúýÿòÿöúóöñöþöûüõþôôúÿ÷Āòô
óöûóýò÷ÿüûÿõö÷üòÿùóòüþñóûúöòüõüþôö÷ùÿùÿýýòüþõòõüþôö÷ùõöû
÷Āòúôõöüÿþøýÿø÷ûÿ
āþüõóöñô  Ăþÿööû  ăþûúÿüþôô Ąþôòöûüü
A)āüĂüòüô  B)Ăüăüòüô C)ĂüĄüòüô D)ö÷úýýô

SET 1 
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5. Consider the following Statements  

1. Border road Organisation was established in the year 1960  

2. This Organization has constructed world’s highest road joining Chandigarh and Leh in Ladakh.  
3. This road runs at an average altitude of 4,270 meters. 

A) 1, 2 is true and 3 is false    B) 1, 3 is true and 2 is false  

C) 1, 2, 3 is true     D) 2, 3 is false and 1 is true 

øûûôýõþÿ÷ñÿûýþ
āþ øÿ÷ùùñõôö÷ùÿþ÷þûúôāĉĆĀÿ÷þûùóòöýþ
Ăþ ý÷þûúôóùþüùüòóòûüöúøÿ÷ùùñõÿôö÷ù÷òùööòþÿóþñüùóÿýýôõýÿü

û÷ûö÷üòÿùóòüþñýþ
ăþ ÿôö÷ùÿöÿüòöýýÿýýôûöôöòöÿĄüĂćĀóòûýýÿóþñýþ
A)āüĂôöċăþûþ B)āüăôöċĂþûþ C)āüĂüăôö  D)Ăüăþûþċāôö

6. Consider the following statements  

1.  Humayun built the shahi (Royal) road to strengthen and consolidate his empire from the Indus  

     valley to the Sonar valley  

2.  This road from Kolkata to Peshawar was renamed as Grand Trunk (GT) road during the British  

period.  

3. This road is bifurcated into 2 segments namely NH-1 from (Delhi to Kolkata), and NH-2 from  

     (Delhi to Amristar) 

A) 1, 2 is true and 3 is false    B) 1, 3 is true and 2 is false  

C) 2 is true and 1, 3 is false    D) 2, 3 is false, 1 is true  

øûûôýõþÿ÷ñÿûýþ
āþ úüöûþû÷öòüóûû÷ôóùùóüýþôþúþ÷Āòÿôôöþôö÷ù÷òõýý

óþñýþöòþÿýýüôöúöüóþñýþöòúû÷ûö÷üýþöüþ
Ăþ ÿöÿÿýþöóÿýýóýöûüû÷ûóþñÿôö÷ùúþüùòüòõÿöùýýÿ

þûöõòòûúòôö÷ùøúùóòüüöõõôôöòùóòöýþ
ăþ ÿôö÷ùNH - 1öÿÿüÿýýÿöÿÿýþöû÷û)üõþôNH-2

öÿÿüÿýýöôüþôûüû÷û)øúøöÿñöÿøöòÿùóòüþñýþ
A)āüĂôöċăþûþ B)āüăôöċĂþûþ C)Ăôöċāüăþûþ D)Ăüăþûþċāôö

7. Assertion:  Konkan Railway was considered as engineering marvel  

Reason:   On Konkan Railway routes, the railway crosses 146 rivers and streams, nearly  

2000 bridges and 73 tunnels. 

A) Assertion and reason are true, reason is the correct explanation of assertion  

B) Assertion and reason are true, reason is not the correct explanation of assertion  

C) Assertion is true and reason is false   

D) Assertion is false and reason is true  

ýõþĊ ÿöúÿûûüÿüûóöôüòÿý÷õüûöýôòüöÿÿþùóüþõýþ
ÿöûĀôĊ ÿöúÿûûüÿüûüûóö÷þüÿāĄĆþÿþüõþôõõüõö÷öÿ÷ñõô÷üöüĂĀĀĀ

óöùúÿ÷ñõôćă÷ûúÿùóö÷þÿ÷ñõôÿöýýôÿþõýþ
A) ýõþü)ÿöûĀôôöċüüûôüÿöûĀôýõþòÿöúôöòöúóñòÿüöúôþ
B) ýõþü)ÿöûĀôôöċúöÿüÿöûĀôýõþòÿöúôöòöúóñòÿüÿùþ
C) ýõþüòüôôöüÿöûĀôþûþ  
D)ýõþþûþüÿöûĀôüòüôôö
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1. Which of the following is not a rule of action during stampede?
A) Keep your hands by your chest 

B) How to move when on your feet & How to move if you fall. 

C) Trying to pinpoint the location by making loud noises 

D) Communicating intelligently 

ÿõÿõöûõôÿýĂöõöôÿûüóöýôöòòýööþ÷û

A)÷ÿÿ÷āüöüüóöü÷ûýýÿöþāô

B)õöòúô÷÷ùüÿõÿüûýõÿûøòõõùóý

C)óûòÿôýþôĂüòòúôöý÷þ÷ĂýòÿöĂöøòõõùóý

D)ñýýôöÿþúüöÿþööüñÿöþāÿ
2. List the stages of disaster management in order from the following.

1. Response 2. Mitigation  3. Recovery   4. Preparedness    5.Prevention  

A) 4, 2, 1, 3, 5   B) 1, 2, 3, 4, 5  C) 5, 4, 3, 2, 1  D) 4, 3, 2, 1, 5 

ÿõÿõöûõôÿüóööüüüùöõ÷üüû÷÷ùÿ÷āûö÷ôùóüýýÿ
ñýùúÿÿ òüĂüóüýýþÿ óĂöÿ  ôþòöü÷÷ù õøûüúõõô

A)ôòñóõ  B)ñòóôõ C)õôóòñ D)ôóòñõ
3. TN State Disaster Response Force (SDRF) has been constituted with a strength of ___ Police 

personnel.
A) 60    B) 100   C) 200   D) 80 

þôõõöüüóööüüþüöñó÷ö(SDRF) øýþ÷úüóöüüþýùó÷öõöûö÷üòÿùóĂöý

A)öð   B)ñðð  C)òðð  D)øð
4. State Disaster Management Perspective Plan period

A) 2010 - 2025   B) 2018-2030  C) 2020 – 2030  D) 2012 - 2030 

üö÷ùüóööüüüùöõ÷üýýĂöÿöùô

A)òðñðòðòõ  B)òðñøòðóð C)òðòðòðóð D)òðñòòðóð

5. Arrange the chronological order of sustainable design 

1. Part manufacturing   2.Assembly    3.End of life   

4. Product use    5.Raw material extraction  6.Material Processing 

A) 5,1,2,3,4,6  B) 6,5,2,1,3,4 C) 1,2,3,4,5,6 D) 5,6,1,2,4,3 

üóĀýþúýþýĂöôöÿûôöòöúûö÷ô÷òüþüôöÿ
ñóýöóöÿúÿþþòööýþÿ   òóýöùóöÿúÿ÷ā÷Āýþÿ
óóöòùûÿöùöûý    ôóöò÷āùóòûóüýýþÿ
õÿÿôöùóöòþøöýþüýþÿ  öüóöòþôòùöòÿô
A)õñòóôö  B)öõòñóô C)ñòóôõö D)õöñòôó

SET 2 
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6. Which of the following is not a cause of flooding?
A) Heavy rainfall in the catchment areas of the river   

B) Poor drainage facility 

C) High-rise buildings, apartments     

D) Sudden opening of dams 

ÿõÿõöûõôÿûþāùóòòþõÿöúÿöûĀôöÿùöþý
A)õôûĀüùøýùñóúýÿùÿöýÿü÷÷ùóöñ
B)ûýÿöÿûôýüû÷ü
C)óòüýþÿĂýöúÿþöüòúüöýúýüòùñ
D)ýÿûúýõýýóöùóüôö÷Āÿþ

7. Choose the correct option
1.  INCOIS was established in 2007. 

2. Indian Tsunami Early Warning Centre established at Hyderabad 

3.  There are 12 cultural realms in the world. 

4.  There are five major Dravidian ethnic groups in India. 

A) 1, 2 Correct  B) 2, 4 Correct C) 1, 3 Correct D) All Correct 

ÿõòÿõöûõôÿôöòöú÷þýüþüÿ
ñ INCOIS ĀõóüýþùóĂöõüòðð÷
ò  ÷úöôøûúôóùñôöûþõÿöÿö÷üùñóþāöô÷÷þûöóöýúô 
3.  óùÿāóÿøýþ÷úÿùöÿôöûüõöùúÿþñòóþāú
ô ýûöóöúòúÿóÿþýýøöÿþóþāú
A)ñòôö  B)òôôö  C)ñóôö D)ö÷úýýôôö

8. Statement 1: In Stockholm conference 1972,It has been declared that man 
shapes the Environment

Statement 2: Earth Summit was held in Rio de Janeiro in the year 1992 

A) Statement 1, 2 is true    B) Statement 1 only true  

C) Statement 2 only true    D) Statement 1, 2 is false 
ýõþñú ñù÷òÿüööòü÷öôüöõöĂýÿüýþû÷õþÿó÷÷ùóòûöòþûýû÷üòþõöûøú
 öôóòÿùóĂöý
ýõþòú ñùùòôõüöüòöýûýüûöõÿöÿñóóÿõüöõöüõ÷öóõõý
A)ýõþñòôö     B)ýõþñüĂüôôö
C)ýõþòüĂüôôö    D)ýõþñòþûþ

9. Choose the incorrect one 
1) The term environment is derived from Latin language  

2) Environ means surrounding  

3) International day for preservation of ozone layer is observed on September 16  

A) 1 only false   B) 2 only false  C) 3 only false  D) All are false  

ÿõòÿõöûõôÿþûõöú÷þýüþüÿ
ñ ÷õþÿó÷ÿøûõôöÿùýùûüöñüÿòýýóõùóĂöý
ò Environ øûóþûóöòþ÷õþùñõôøûóþöúô
ó ûüôöûöüòúóöýÿöùóþõÿöúôüûüþôõöþôùöôóüñöúô
A)ñüĂüôþûþ  B)òüĂüôþûþ C)óüĂüôþûþ D)ö÷úýýôþûþ
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1. Which of the following is the highest peak of Nilgiri Hills ? 

A) Doddabetta  B) Mukkurthi  C) Pagasura  D) PerumalMalai 

Āùþöü÷ùüûòûüöúõÿûôøýÿ 

A) øþöòöøóòöö  B) øòúòýý  C) óÿö÷ûö  D) øóòüöþü÷ù
2. Which of the following passes is not located in the Western Ghats of Tamil Nadu? 

A) Palghat  B) Shencottah C) Bhorghat  D) Achankoil 

ÿõòÿõöûõôÿþôõõöòýûüüõúýøþööüÿõü÷ùüÿö÷üòöþÿĀûööÿ 

A) óöùòÿö  B) øôúüÿöò÷ö C) üóöüÿöò  D) öÿôûüÿöóÿ
3. The dam is one of the biggest earthern dams in the country is  

A) BhavaniSagar dam    B) Mettur dam   

C) Amaravathi dam     D) Papanasam dam   

üõÿÿÿù÷ûòöÿÿòöùóòöôÿùøóöòö÷Āÿùÿþûþþ 
A) óûöýôöÿüö÷Ā    B) üüòüö÷Ā 
C) öüûöûýö÷Ā    D) óöóõöôôö÷Ā

4. Which of the following is the one of the oldest dams in India ? 

A) Mettur Dam     B) Vaigai Dam  

C) Karaiyar Dam    D) Amaravathi Dam  

ýýòöóûôÿùó÷÷üòöúö÷Āÿùÿþûþ 

A) üüòüö÷Ā    B) ÷û÷ÿö÷Ā 
C) ÿö÷ûòöüö÷Ā    D) öüûöûýö÷Ā

5. Tamil Nadu Newsprint and Papers Limited, a government of Tamil Nadu enterprise is located in ? 

A) Vellore    B) Ambur  C) Karur  D) Ranipet 

þô÷ÿöû÷÷þûúüöúþôõõöøôöýýþöþüõþôÿöþþ÷þûúôøúúö÷üýýþñýÿ
A) üûùü  B) ôÿü  C) ÿôü  D) ûöøùüóò÷ö

6. Which of the states is the largest software exporter in the country? 

A) Karnataka     B) Tamil Nadu   

C) Andhra     D) Telangana 

õöòýûøüûøóöòþĀõþüýüÿøþû÷üûþòúôüö÷ùôÿ 

A) ÿüõööÿö     B) þôõõö  
C) ýýûö     D) øþûúÿöúö

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1. Which of the following waterfall is located in Kerala? 

A) Beman waterfall    B) Pykara waterfall 

C) Thirumoorthy waterfall   D) Palaruvi waterfall  

ÿü÷øÿöüòÿùóĂüþā÷ûÿùÿüÿûāöóÿö÷üýýþāĀüõÿõøýÿ
A) üüûĀüõÿõ      B) ÷óòÿöûöĀüõÿõ
C) ýòúüýĀüõÿõ    D)óöùòóĀüõÿõ

2. Examine the statement. 

1. The highlands in the alluvial plain are called chars and the marshy area is called bits. 

2. The bungar, found in the Northern plains is a landform with upland alluvial deposits. Its deposits 

    are composed of old alluvial soil.  

A) 1, 2 correct  B) 1 only correct  C) 2 only correct  D) 1, 2 wrong 

ÿõòÿöòôýõþÿ÷āòÿöõÿþ
āþûõöÿôüøûùüÿóòü÷ùùóúýôöüüøúñôôýùñ÷ùùóúýøÿüøúñôö÷÷òÿùóüþõýþ
ĂþûöøóòôôüøûùüÿÿöĀùóüôóúÿüøûóýüüĂü÷ùûõöÿóýñÿ÷āòøÿöõö
÷ùýüþöõõüöúþûóýñÿþó÷÷òûõöÿüõĀöÿú÷ûþ
 A)āüĂôö   B)āüĂüôôö C)ĂüĂüôôö D)āüĂþûþ

3. Headquarters of South Central Railway? 

A) Bangalore  B) Hubli  C) Hyderabad D) Secunderabad 

øþûüýýòûüÿüûüûþ÷ù÷üüöôö÷üýýþāöô
A)øóúÿúü  B)øùù  C)÷þûöóöý D)øôÿýýûöóöý

4. Match it Earth quake.        a b c d 

a) Zone 2   - 1. Rann of Kutch    A)  4 3 2 1   

b) Zone 3   - 2. Delhi     B)  2 3 1 4  

c) Zone 4   - 3. Kerala     C)  1 2 3 4 

d) Zone 5   - 4. Deccan plateau   D)  2 1 4 3 

øóöòýýÿþ(÷ùöýüû÷ù)      a b c d
 a.üõöùôĂ  āþûöûĀùÿĂÿ   A) Ą ă Ă ā
 b.üõöùôă  Ăþøöÿÿ    B) Ă ă ā Ą
 c.üõöùôĄ  ăþüÿûāö    C) ā Ă ă Ą
 d.üõöùôą  ĄþþòÿöĀüöÿô   D) Ă ā Ą ă

5. Across which river the Nagarjuna Sagar dam was built? 

A) Narmada  B) Bhavani  C) Cauvery  D) Krishna 

öÿüúöôöÿüö÷ĀøýþõôûúþòüÿÿĂöùóĂüóþāýÿ 
A) üüþö   B) óûöý  C) ÿöüûö  D) þòùĀö
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6. 1. It produced in the Amarkentak plateau in Madhya Pradesh. 

2. It forms a long estuary of 27 km in length and empties into the Arabian sea through the Gulf of      

    Cambay 

Which rivers is represented by the above statement? 

A) Maganadi  B) Krishna  C) Narmatha  D) Tapati 

āþüýýòøûüþôýýÿóþāöüüÿõööòüöÿôüÿóõóýýòöþõýþ
ĂþĂćþþĀāýýõúþòĀõöÿñøÿóúý÷òóòûöòþÿöôüóû÷āúööûñòöÿöûøòÿöÿÿ
ÿùòþõýþ
üüõÿöòôýõþÿāöÿúôòÿùóüôþøýÿ
 A)üÿöý  B)þòùĀö C)üü÷þ  D)þóý

7. In Peninsular India, which of the following rivers flows from West to east? 

A) Mahanadi, Godavari, Krishna, Cauvery  

B) Krishna, Narmada, Tapti, Mahanadi  

C) Narmada, Mahe, Godavari, Cauvery  

D) Cauvery, Tapti, Godavari, Krishna  

ùóÿõóýýòöóÿüüõþÿòýýþ÷òúüöòþùóöõôþÿþø÷ûÿ 

A)üÿöýüüÿöþöûöüþòùĀöüÿöüûö 
B)þòùĀöüüü÷þüþóýüüÿöý
C)üü÷þüüöþüüÿöþöûöüÿöüûö  
D)ÿöüûöüþóýüüÿöþöûöüþòùĀö

8. Examine the statement. 

1. In India standard longitude line passes through Mizapur. 

2. India standard time is 5 hours and 15 minutes behind greenwich mean time.  

A) Only 1 is correct    B) only 2 is correct  

C) 1, 2 are correct     D) 1, 2 are wrong 

ÿõòÿöòôýõþÿ÷āòÿöõÿþ
āþýýòöóûýĂöüûüöÿøüýýòøÿöþāùóüôùüòÿüû÷ÿôüôöÿüûñòöÿøôÿþõýþ
ĂþýýòöýĂöüûüöúýÿöûÿôûöôöüûý÷þóöąüøāą÷ôöôøûúþöÿóþāýþ
A)āüĂüôôö  B)ĂüĂüôôö C)āüĂôö  D)āüĂþûþ

9. Examine the statement. 

1. The northern part of the west coast is called the konkan coast and the central part is called the   

     Kanara coast. 

2. Malabar coast is southern part, which is 20-100 km wide and 550 km long. 

3. Vembanad lake is the most important lake in the region.  

A) 1, 2 are correct  B) 2, 3 are correct C) 1, 3 are correct D) All are correct 

ÿõòÿöòôýõþÿ÷āòÿöõÿþ
āþüüõúÿöõÿ÷ûüûûöóúýøÿöúÿĀòÿöõÿ÷ûøúñôüüýýòóúýÿúûöÿöõÿ÷ûøúñô
ö÷÷òÿùóüþõýþ
ĂþĂĀāĀĀþþû÷ûöÿùøôüąąĀþþĀāøôøÿöõöþûøþûóúýüùóöüÿöõÿ÷ûøú
ö÷÷òÿùóüþõýþ
ăþüûôóöüĀöùóúýüÿóþāøòþòüöúĀöòöúôþ
 A)āüĂüĂüôôö  B)ĂüăüĂüôôö C)āüăüĂüôôö D)ö÷úýýôôö
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1. INDIA – LOCATION AND PHYSICAL FEATURES  

SET - 1 

1 A 2 C 3 D 4 B 5 A 6 C 7 A 8 B 9 D 10 C 

11 A 12 A 13 B 14 D 15 B 16 D 17 A 18 C 19 D 20 B 

21 D 22 C 23 B 24 A 25 A 26 A 27 B 28 A 29 C 30 B 

31 B 32 C 33 D 34 B 35 D 36 B 37 D 38 A 39 A 40 A 

41 B 42 D 43 A 44 D 45 D 46 C 47 B 48 D 49 A 50 D 

INDIA – LOCATION AND PHYSICAL FEATURES 

SET - 2 

1 C 2 C 3 C 4 D 5 C 6 C 7 D 8 C 9 B 10 D 

11 C 12 A 13 D 14 C 15 B 16 D 17 C 18 C 19 A 20 B 

21 B 22 A 23 B 24 D 25 B 26 A 27 C 28 A 29 C 30 B 

31 B 32 C 33 A 34 B 35 C 36 A 37 D 38 B 39 B 40 D 

41 B 42 C 43 D 44 B 45 A 46 B 47 B 48 A 49 D 50 B 

2. INDIA – RIVERS AND WATER RESOURCES  

SET - 1 

1 D 2 D 3 D 4 B 5 C 6 C 7 C 8 B 9 A 10 D 

11 C 12 A 13 B 14 B 15 A 16 D 17 C 18 B 19 C 20 A 

21 D 22 B 23 D 24 A 25 D 26 A 27 B 28 C 29 B 30 D 

31 C 32 B 33 C 34 D 35 B 36 B 37 A 38 A 39 A 40 D 

41 A 42 C 43 C 44 A 45 D 46 C 47 A 48 C 49 B 50 A 

INDIA – RIVERS AND WATER RESOURCES 

SET - 2 

1 B 2 A 3 A 4 C 5 A 6 D 7 C 8 A 9 B 10 B 

11 D 12 B 13 B 14 B 15 A 16 A 17 B 18 A 19 B 20 D 

21 C 22 B 23 B 24 D 25 C 26 A 27 D 28 D 29 B 30 B 

31 C 32 B 33 B 34 D 35 D 36 B 37 A 38 C 39 C 40 B 

41 B 42 C 43 C 44 C 45 A 46 D 47 D 48 C 49 B 50 A 

 


